RHIC Polarimeter Target Scans

(Refer to Diagrams on attached page)

1.

Open Pet/Polarized Protons/Polarimeter/Control and note the
orientation and name of the target

Change the Mode to “Test Run”

Once the Status is “Running” you can note the Count Rate
for the target

Open Pet/Polarized Protons/Target/Yellow and scroll to either
the vertical or horizontal section of the page as appropriate

Increase the Y(rotary) target position by 3 to 5 counts

Resend the “Target” Command in order to make the target
move to its new position

Again note the Count Rate on the Polarimeter/Control Pet
page as in step 3

Repeat steps 5, 6 and 7 until you maximize the Count Rate (if
the Count Rate never goes up, then you need start over from
the original target position and decrease the counts in step 5)

Note: This iterative process must be done while the Status on
the Polarimeter/Control page is still “Running.” After a short
period of time the “Test Run” automatically ends and removes
the target. When this occurs, you must wait for the target to
stop moving and start over from step 2

10. Repeat for Blue Ring
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